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H23.7.20 LLIEE KI5 JEIE R 9.1 rRH 7.8 rRH 1.3
H24.2.8 LI BB KI5 BB R 9.8 R 75 R 105
H24.7.11 LLIEE KI5 JEIE — — rRH 8.0 R 9.0
H25.1.9 LI BB KI5 BB — — R 9.0 R 8.1
H25.7.10 LLIEE KI5 JEIE — — R 59 R 6.8
H26.1.8 LI BB K15 BB — — R 59 R 6.8
H26.7.9 LLIEE KI5 JEIE — — R 0.6 rRH 7.3
H26.12.15 LI BB K15 BB — — R 9.6 R H 9.6
H27.6.10 LLIEE KI5 JEIE — — rRH 6.7 R 58
H27.12.9 LA KI5 BB — — R 7.3 R H 75
H28.6.8 LLIEE KI5 JEIE — — RRH 8.8 R 8.3
H28.12.14 LI BB KI5 BB — — R 6.9 R H 9.2
H29.7.12 LLIEE KI5 JEIE — — RRH 6.9 R 8.0
H29.12.6 LI BB KI5 BB — — R 0.4 R 8.0
H30.7.4 LLIEE KI5 JEIE — — RRH 71 RRH 9.7
H30.12.5 LI BB K15 BB — — R 7.4 R H 71
R1.7.3 LLIEE KI5 JEIE — — AHRH 9.7 rRH 79
R1.124 LI BB KI5 BB — — R H 71 R 8.4




